MIAMI-DADE MIAMI-DADE COUNTY

PRODUCT CONTROL SECTION

BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208

BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474
T (786) 315-2590 F (786) 315-2599

NOTICE OF ACCEPTANCE (NOA) www.migmidade.gov/building

Mitsubishi Plastics Composites America, Inc.

401 Volvo Parkway

Chesapeake, VA 23320

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County BNC-Product Controt
Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHD).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have
this product or material tested for quality assurance purposes. If this product or material fails to perform in the
accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke,
modify, or suspend the use of such product or material within their jurisdiction. BNC reserves the right to revoke
this acceptance, if it is determined by Miami-Dade County Product Contro! Section that this product or material
fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane |
Zone of the Florida Building Code.

DESCRIPTION: “Alpolic and Alpolic/FR ” Composite Wall Panel Systems

APPROVAL DOCUMENT: Drawing No. 1, titled “Alpolic and Alpolic/fr Composite Wall Panel Systemns”,
sheets 1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., dated 11/11/02, last revision #1, dated
09/01/09, signed and sealed by Robert A, Walz, P.E,, bearing the Miami-Dade County Product Control Renewal
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Small Missile Impact Resistant

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement; "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with
any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 09-0923.05 and consists of this page 1, evidence submitted pages E-1, E-2, & E-3 as
well as approval document mentioned above.

The submitted documentation was reviewed by Helmy A, Makar, P.E., MLS.

MIAMIDADE COUNTY // / Wl NOA No. 11-0421.08
) Expiration Date: 08/09/2012
YL / Approval Date: 06/09/2011

/2ol Page 1



Mitsubishi Plastics Composites America, Inc.

1.

A,

B.

C.

D.

20

B.

1

1

1

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 00-0315.07
DRAWINGS

Drawing No. 2, titled “Alpolic and Alpolic/FR Composite Wall Panel Systems”,
prepared by C. W. Stater, P.E., dated April 16, 1999, last revision #1 dated February
13, 2001, sheets | through 5 of 5, signed and sealed by C. W. Stater, P.E.

TESTS

Test report on Small Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air Pressure Test on Alpolic and Alpolic/FR Composite Wall Panel Systems,
prepared by Architectural Testing Inc., Report No. 01-35789.02, dated 05/31/00,
signed and sealed by Allen Reeves, P.E.

Test report on Ignition Properfies, prepared by Southwest Research Institute, Report
No. 01-8361-038, dated 10/28/96, signed by Betty J. Covey and Alex B. Wenzel.

Test report on Flame Spread Index and Smoke Developed Index, prepared by
Southwest Research Institute, Report No. 01-7520-359a, dated 09/26/96, signed by
Anthony L. Sauceda and Alex B. Wenzel.

CALCULATIONS

Calculations titled “Structural Calculations for Composite Panel System”, pages 1
through 22 of 22, dated April 13, 2000, prepared by C. W. Stater, P.E., signed and
sealed by C. W. Stater, P.E.

MATERIAL CERTIFICATIONS

1

2.

Spec. Data issued by Alcoa Mill Products, dated November 08, 2000, with chemical
composition and mechanical properties of Aluminum Alloy 3105-H14.

Tensile Test Report No 01-35789.03, prepared by Architectural Testing, dated July
07, 2000, signed and sealed by Allen N. Reeves, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #03-0130.06
DRAWINGS

1

Drawing No. 1, titled * Alpolic and Alpolic/fr Composite Wall Panel Systems *,
sheets 1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., signed
and sealed by Christopher W. Stater, P.E., dated November 11, 2002.

TESTS

1.

Test report on Small Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air-Pressure Test on Alpolic and Alpolic/FR Composite Wall Panel Systems,
prepared by Architectural Testing Inc., Report No. 01-43055.01, dated January 07,

2003, signed and sealed by Joseph A. Reed, P.E.

elmy A. Makar, P.E., M S.

BNC, Product Control Unit Supervisor
NOA No. 11-0421.08

Expiration Date: 08/09/2012
Approval Date: 06/09/2011



Mitsubishi Plastics Composites America, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
I None.

D. MATERIAL CERTIFICATIONS
L Tensile Test Report No 01-43055.02, prepared by Architectural Testing, dated
March 04, 2003, signed and sealed by Joseph A. Reed, P.E.

3. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #06-0531.12
A. DRAWINGS

1 None.

B. TESTS
1. Nore.

C. CALCULATIONS
1 Norne.

D. QUALITY ASSURANCE _
1, By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 09-0923.05

DRAWINGS

1. Drawing No. 1, titled “ Alpolic and Alpolic/fr Composite Wall Panel Systems ”,
sheets 1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., dated
11/11/02, last revision #1 dated 09/01/09, signed and sealed by Robert A. Walz, P.E.

> &

B. TESTS
1 None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1 By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

I L»AM\

~~Helmy A, Makar, P.E,, M.S,

BNC, Product Control Unit Superwsor
NOA No. 11-0421.08

Expiration Date: 08/09/2012
Approval Date: 06/09/2011




Mitsubishi Plastics Composites America, Inc.

" NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

5. NEW EVIDENCE SUBMITTED
A, DRAWINGS

1, None.
B. TESTS

1, None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building and Neighborhood Compliance Department.

E. MATERIAL CERTIFICATIONS
1. None.

//4/5;9;4 M~

“Helmy A. Makar, P.E., M.S.

BNC, Product Control Unit Superv:sor
NOA No. 11-0421.08

Expiration Date: 08/09/2012
Approval Date: 06/09/2011



ALPOLIC and ALPOLIC/FR (FIRE RATED)

COMPOSITE WALL PANEL SYSTEMS FOR
FLORIDA BUILDING CODE
SMALL MISSILE IMPACT

GENERAL NOTES

1.

MATERIAL SPECIFICATIONS:

THESE ALPOLIC AND ALPOLIC/FR COMPOSITE PANELS SHALL BE USED FOR WALL CONSTRUCTION,

SOFITS, AND OTHER EXTERICR DETAILS WHOSE REQUIREMENTS FOR POSITIVE AND NEGATIVE

PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL
PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM

REQUIRED SPECIFICATIONS

THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE + 70 PSF/-90 PSF.

3. THESE ALPOLIC and APLOLICHT COMPOSITE WALL PANEL SYSTEMS ARE TESTED

IN ACCORDANCE WITH THE FOLLOWING PROTOGCOLS:

TAS-201-94, IMPACT TEST, SMALL MISSILE
1AS-202-94, UNIFORM STATIC AR PRESSURE TEST

TAS-203-84, CYCLIC WIND PRESSURE TEST

AND THEY SHALL BE INSTALLED AS SHOWN IN THESE APPROVED DRAWINGS.

FRODUCT Rihi

as complying swith m-.. Hmma
Building Code

Accepiance No U- 04&2/_ o8

Expirgtion Date 0870

Biswi Dede? ’mduci Cmmcl

ALUMINUM EXTRUSIONS

MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER, {By Kistler McDougall)

MATERIAL: CAY-1008 TEE, CAY-1010 FEMALE, CAY-1011 MALE, CAY-1012 STIFFENER AND CAY-1013 RETAINER ARE
EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER

1.
2.

(By CAY ARCHITECTURAL PRODUCTS)

3. FINISH: MILL FINISH
COMPOSITE PANEL
ALPOLIC ALUMINUM COMPOS|TE METAL PANEL 4MM THICK {0.157") AND 8MM THICK (0.236")
AS MANUFACTURED BY MITSUBISHI CHEMICAL AMERICA, INC., CHESAPEAKE, VA
2. ALPOUIC/ (FIRE RATED) ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157"
AS MANUFACTURED BY MITSUBISHI CHEMICAL FUNCTIONAL PRODUCTS, INC., UEDA, JAPAN
3. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS
PERFORMANCE CHARACTERISTICS SPECIFIED.
4. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY
5. FINISH: LUMIFLON-BASE FLUROPOLYMER RESIN COATING,
6. MAXIMUM DIMENSIONS: 62" WIDE X 285" LONG
7. TECHNICAL DATA
DESCRIPTION TEST AMMALPDLIC ~ 4MMALPOLICH  6MMALPOLIC
SPECIFIC GRAVITY 1.38 190 1.23
WEIGH 1121B/SQFT  156LB/SQFT 150 LBISQFT
TERSILE STRENGTH ASTM E-8 7452 P! 5693 PS| 6399 PS|
YIELD STRENGTH ASTM E-8 NDY NDY NDY
ELONGATION ASTM E-8 16% 8% 13%
PUNCHING SHEAR RESISTANCE (YDIA) ASTM D732 4025 PS 4837 PS] 2816 PSI
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PSi 2259 PSi 2121LBS
BOND INTEGRITY VERTICAL PULL ASTM C-207 806 PSH 427 PS 1864 PS|
DRUM PEEL ASTM D-1781-76 33,6 IN-LB/N Z76INLBIN 336 INLB/IN
FLATWISE SHEAR ASTM C-273 1225 PSi 949 PS| 1195 PSi
RATE OF BURNING ASTM D635 cCi - -
FLAME SPREAD INDEX ASTM E-B4 00 00 00
SMOKE DEVELOPED INDEX ASTM E-84 00 10 10
SELF IGNITION TEMPERATURE ASTM D329 752°F 837°F 752°F
FLASH IGNITION TEMPERATURE ASTM D-1820  716°F 811°F 716°F
SURFACE FLAMMABILITY ASTM E-10888  PASSED PASSED PASSED
SOUND TRANSMISSION ASTM E-413 STC26 - STC-26

FRAMING & ACCESSORIES

1.

STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD TRAXX 3 BUILDEX SCREW,

PANEL FASTENERS: #10 x 1" HEX WASHER HEAD TEK SCREWS SPACED AT 16" O.C.

STIFFENER FASTENERS: #10 x 1" HEX WASHER HEAD TEK SCREWS.

JOINT SILICONE: DOW CORNING £795 SILICONE SEALANT.

STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.

BACKER ROD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.

THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL
FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT CONTROL APPROVAL
AND IT SHALL BE REVIEWED BY THE STRUCTURAL PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.

VATERIAL

STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MiN. PROPERTIES OF 50 KS! YIELD, 65 KSI ULTIMATE.

PRODUCT REVISED

as complying with the Florida
Building Code
Acceptance No
ion Late ©

Divizion

TORTCT IS
Tl B e MITSUBISHI CHEMICAL AMERICA, INC.,
FRACTIONS  DECKHALE  AMGLES
tir xxba i Jre— o
' "[oRR ALPOLIC and ALPOLIC/fr
[ERETEEARG COMPOSITE WALL PANEL SYSTEMS

FINSH

MS

111102

PROU MSAMT

v AL .
b q‘“‘{m /
Te— —
I |TH 9/0;/09J SN HETE 1 VAT TEN WAL, WHSTRICTES L]
REV. | BY DATE CHANGE

00 HOT SCALE DRAYING

PROQUCTION

sglm ‘mm ) ]‘T

SCALE | [sieer 1 OF 10




11/

| f—

1/2"

12

PANEL DIMENSION

15'-0 1/2"

FRAME OUTSIDE DIMENSION
149 1/2

FRAME INSIDE DIMENSION

S S
N PR g

T . M

.-m I = -

& g N S| =
[ i s © 10
52 Sw % 8z & d |3
Dz Loigds SE % 25
WM lmﬂe. & EweNoM o=
Zegzs IR L EE£3%2 S| 3
e 5w = e =
TERETENIY B SeEw§E Yace _|Z| s
2EdsE 2 O DESRE g2 s|E|S
QEEEE o geHER BE 26 1 5
o8z s ETS o Zdn<m a5 el= 1 8
Eamsd &3 © _ [NE | &

=lm -4
—_ A
lllllllll ﬁﬁIIIIIIAAIIIHTWHHTII!iIIIl N
=]
7]
11 11 ¥il=
PPN Y. RPN, L | E

HEV

[sueer 2 OF 10

KO.

COMPOSITE WALL PANEL. SYSTEMS

SCALE SHOWN]

SIZE | CAGE

DATE

1111102

L2
(O

FROJ MGMT

PROCUCTHON

WMS

DO HOT ECALE DRAWING

4MM & SMM ALPOLIG
& 4MM ALPOLICT

FHIH

MATERWAL

........ e e e ]

! T

" i Ll

- (3] 1
llllllll T e — — — e
|||||||| T SR | ROt

| A —— ﬂ_lrl.l.l-_..UJ/n_,[iil.._t ||||||||||||

&
e

X,
_

/

&=

<,

@ OPPOSITE

PANEL ELEVATION

r——————- e —————— B D LT e EAPMESR RS | SRS ———
1T T
i1 ‘i
|| 1
llllllll b -
. USSR 55 ENONO O I JUR | E N =]
= - ﬁn u_u_ 2
i 1
o —— e, M&
1 11 [ w0y ®
IIIIIIIIIIIIII ——s e @
Nl S S SIB
1
2 a - AN UG / @
£ RS 2 Il 2 | N
e . - b I e B v_
3§ .
= (=]
<< HAL e e b e e e — s ]
o WW S e —————
g P B P \\A—br-DLN.
—  — H- =28
222
STN
. 5, <0 L/ =¥
= = -0
- ~o3
J-l Fd 0 NOISNINIQ H25
—_ —— =
/0 NOSNING TNV 7/ T3Nvd mwm
¥ F-l =0z
NOISNIWIO 3GISM IV mmm
P =
2/ /1S5 /Lt SR
—ZE
gEg
NOISNIWID 3CISLN0 3NV W%M
|
Z/L 8~5 )

34" = 10"




CONNECT WOOD BUCK FRAME
TOGETHER WITH (3) 5/16" DIA
LAG BOLTS EACH CORNER (TYP.)

11/2"

15'-0 1/2"

WOOD BUCK FRAME

14'-9 1/2"

METAL STUD FRAME DIMENSION

11/2

:ﬁ 6" 16 GA. GALV. METAL TRACK ADD A STUD AT 2 x 10 WOOD BUCK FRAME
: ; TYPICAL TOP & BOTTOM /- PANEL JOINT LOCATION / ARQUND QUTSIDE PERIMETER
N\ d :
LY //
1
= /
o
L) [%2]
é G
=
« a
m
a
[
g =
[75]
] EI
< E
ki
vl
u)
A
[Te)
]I
15/8"
- _.,.___l g
u h "
PRODUCT RENEWED: 91/2 -4 1'-4" t'-4" 1'—4" -4 1'-4" 1'—4" 1'-4" 14" 8"
s corsnivi with the Flowd ! I I ! ! ' !
E:!(c‘i :;‘:;! éi:fé; ith the Fluzids CENTERLINE DIM.
Accepiuriog Nan: 4] 3— 08 ! " (TYP)
Expitption Date S8/08 77,012 2-7 3/4 PRODUCT REVISED
as complying with the Florida 6" 1__5/8n 16 CA
o M Building Code oALY. METAL STUDS THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
: Acceptance No ; ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.
Exp 50 KSI YIELD (TYP.) _
= [ ani 1)4; .
\E“ "T-. Division
o - v
5 18" STUD FRAMING ELEVATION A Kjstlr McDougall
1 5/8" ' . _ o _;,,/ﬂuTsualsm CHEMICAL AMERICA, INC.
3/4 - 1 "‘O FRACTIONS  DECIMALE e
B ] o | e ALPOLIC and ALPOLIC/f
WATERIAL SR an T
MEYAL STUD EFL TRAC F Mg:mggryoﬁg,ﬁ“c P —— COMPOSITE WALL PANEL SYSTEN
PROUMGMT

D0 HOT SGALE DRAWING

PRODUCTIOR

‘82 GAGE CODE WG RO,
B 1

SCALE SHOWMH] Jsueer 3 OF




£12 x 1 1/2" HWH WOOD SCREW
©16” 0.C. TO MAIN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNEGT FRAME TOGETHER WITH

(3) 5/16” DIA. LAG BOLTS

DOW CORNING *795 SILICONE
SEALANT & 3/4™ Dia, OPEN CELL,
BACKER ROD (TYPICAL)

ATTACH EACH STUD TQ TRACK
W/ $12 x 1 1/2° HwH
TRAXX J BUILDEX SCREWS
™0 (2) EA. SIDE

!
9/16"

#10 x 1" HWH TEK sanw—/
16" O.C. TYPICAL EACH PANEL

4MM OR 6MM ALPOLIC‘_/

OR 4MM ALPOLIC/fr

2 /&

ALUMINUM COMPOSITE
PAMEL

MIN.

HS EXTRUDED ALUMIMUM
PANEL STFFENER N

DOW-CORNING #1189 —/

SILICONE SEALANT

HR EXTRUDED ALUMINUM—/

PANEL STIFFENER

2

—2 174 MiN.——l

o =

p——————6" X 16 GA

PLASTIC SHIM SPACE
(AS REQUIRED)

\_ A2 ALUMINUM

EXTRUSION

12 x 1 1/2° HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

CALV. STEEL STUD
18" 0.C.

71"\ DETAL
4

SCALE: 6" = 1

#12 % 1 1/2° HWH TEK SPACE
16" 0C, (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(S REQUIRED)

6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

/ 2"\ STIFFENER DETAIL

4 SCALE; " = '

THE WOOD BUCK FRAME DETAILED N THIS DRAWNG
1S FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 s M2 ALUMINUM
EXTAUSION
§$10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL
\ U
/ \112 x 1 1/2° HWH TEK sc;zl-:w
16 0.C. (FASTEN TO STUDS
1
PLASTIC SHIM SPACE
(AS REQUIRED)
BACKER ROD 1 .
AND SEALANT /18
e 5" X 18 GA
GALY. STEEL STUD
F2 ALUMINUM 16" Q.C.
EXTRUSION

PRODUCT RENEWED

as complying wiih the Florida
Building Code )
Ageeptance Mo [l - 0421, 08
Expiration Date 08/ 04 /202

By A 54“ g
Miatiii Da uet Control

PRODUCT REVISED
73N JOINT_DETAIL R ot withthe Flrids
W SCALE:; 6" = 1 Building Code

%ami [

Divigion

Accepuance No O]
Expimtion Date

oduct Control

Kistlar McDougall

MITSUBISHt CHEMICAL AMERICA, INC.

MM 664414 ALPOLIC
S UM ALFOLCH {FFERE T e
T
— B

ALPOLIC and ALPOLICHr
COMPOSITE WALL PANEL SYSTEMS

DO HOT BCALE DRAYANT

LR
i i

SCALE SHove]

fsenr 4 OF 10




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING /

IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

8" X 16 GA :
GALY. STEEL STUD
16" 0.C.

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

|

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
{(3) 5/18" DA LAG BOLTS

DOW CORNING *795 SILCONE
SEALANT & 3/4" DIA. OPEN GELL
BACKER ROD (TYPICAL)

i/2°

[t—————— AZ ALUMINUM
EXTRUSION

2 174"
N,

\mm OR 6MM ALPOUIC

OR 4MM ALPOLIC /fr

ALUMINUM COMPOSITE
FANEE

#10 x 1" HWH TEK SCREW
16" O.C. TYPICAL EACH PANEL

PRODUCT RENEWED

a9 complying witl: the Floridg
Building Code

Acceptance Nofj~ D42/ . oy

CENTERUNE OF
METAL STUD -

CENTERUNE OF
PANEL JOINT

6" x 16 GA,
GALY. STEEL STUD
18* 0.C.

| #12 x 1 1/2" HWH TEK SCREW
18" 0.C. (FASTEN TQ STUDS)

SHIM AS
REQUIRED

T ,‘J’—I

[
91 I F2 ALUMINUM

—=EO [ EXTRUSION
2 /4 M2 ALUMINUM
M EXTRUSION  ®

F10 x 17 HWH TEK SCREW
16 0.C. TYPICAL EACH PANEL

PRODUCT REVISED

a5 complying with the Florida
Building Code

Acceptance No O~ & 23.05
Expirgtion Dateo I

DOW CORNING *795 SILICONE
SEALANT & 3/4" DA OREN CELL
BACKER ROD (TYPICAL)

m DETAIL Ex}zml{m Pacel/eq]2 ofr gﬂami T . _ istler McDougall
e T By fle A 4 Lo Division DR Q4L L MITSUBISHI CHEMIGAL AMERICA, INC.
\5/ Pe Mirmit DacdePradng © onfrol oSt —— |
R~ - LIS Sty OATE
TR - AT ALPOLIC and ALPOLIC/fr
dhanyoUGe _fawmas | COMPOSITE WALL PANEL SYSTEMS
FRAT TOOE [ TEV |
PREBUCTION Bl ! I 1
DOHOT SCALE DRAWMG SEAE_ St [ 5 oF w0




1.500
g5 | 750
I %
|14 )}
093 I \rw.ma
| i 125
1.608 '
1.688 !
063 E
. ) \/_
T 1 ' L
080] | | i-zs
BREAK _CORNERS .015 R
EXCEPT AS NOTED
ACTUAL SIZE
DIE DATA
EST. AREA; .430 DIE SIZE: 6

EST. WEIGHT: .518 NO. HOLES: 1
EST. PERI.:

FACTOR:

EXT. LENGTH: 5 1/8" =1 @ 35

R/R:

HR
1.600
250 1.080
—_] ~
930 gpa
2.125
B \ww--ruu. L)
BREA RS .0i5 R
[090 TYPICAL METAL THICKNESS
ACTUAL SIZE
DIE_DAT
EST. AREA: 465 DIE SIZE: 6
EST. WEIGHT: .558 NO. HOLES: 1
EST. PERL; EXT, LENGTH: 5 1/8 =
FACTOR: R/R

16 36

IS

1.500

A3 RO

1.77¢
BREAK CORNERS .010 R
100 WALL THICK TYPICAL
PROUCT RENEWED TUAL S
as complying with the Fiorids
Building Code
Acceptance No [-047}.08 PRODUIC L:&Y‘ﬁﬁgphﬂ@
B tion Date O & 70 G a3 coimpty
*pirgtion Datz O ° lf20/2 Building Code

Miarmi Dad Pf uct (‘antro

Acocptanw No -0 t-z -05‘
Expiragion Date

Miami Dad
DIE DATA Division
EST. AREA: 317 DIE SIZE: 6
EST. WEIGHT: .380 NO, HOLES: 1
EST. PERI. T. LENGTH:
FACTOI_? R: / = 1 @ 53’
L ister McDougall
T gyuqtf 3| MHTSUBISHI CHEMICAL AMERICA, INC.
WL ‘- a1 PR T
e e z ALPOLIC and ALPOLIC/r
P COMPOSITE WALL PANEL SYSTEMS
e L 11102
sesiRgat ™" mrl'mzm—lm T8
" -t B ! ] 0
DO NOT SCALE DRAY HG EL_II.-E { l““ & OF 0




862 .l&_ll 750 )
04 R Q83
063 2
063

e 1
T el O,
I 030 R—y ! 030 R \.mn
FULL
.063 |
JO0RE ] H "
ey | 1.377
1.25¢4%
CRITICAL i
[}
_,-'_ 125
E875 G875
1] 1Z
B SHARP C S 005
DIE DATA
£ST. AREA: .275 DIE SIZE: 6

EST. WEIGHT: .330

EST. PERL: 5.831
FACTOR: 18

NO. HOLES: 1
EXT. LENGTH: 4 1/2 = 1~ 46’
R/R: 5 1/8" = 1- 62’

F2
2.438
688 980 250
188
18 090
-063 ooz A, —
| | \j
2 = |
.08
1.786 N\
CRITIGAL 1.507 et
CRITICAL 03% B, € PLACES e
125 .750 375 .500
ACTUAL SIZE
BREAK S S .010
FRODUCT RENEWED PRODUC'_I‘RE\_IIS .
as compiying with the Flogida ;s g?éppl%zﬁ :mh the Flerido
Building Code vilding . .
Expirgtion Dain Expirgtion Dale
By 2
E L B : Miami Dadé¥roduct Contro
DI duct Contro} Division
EST. AREA: .484 DIE SIZE: 6

EST. WEIGHT: .581

EST. PERI.: 9.900
FACTOR: 17

NO. HOLES: 1

R/R

EXT. LENGTH: 5 1/8 = yo§4’

£)
/.

(LY _Kisligr McDougall

aaaaa

IR

MUBISH[ CHEMICAL AMERICA, INC.

PRPROVALE

B

— o ~ ALPOLIC and ALPOLIC/r
LUMATOUGE __fremir ] COMPOSITE WALL PANEL SYSTEMS
FROTWCHT o RV {
PRI B ! 0
DOHOT SCALE DRAWING SCALE I Im_g 7 OF %0




11/2"

4
NI,
OPPOSITE

12"

12

PANEL DIMENSION

15'-0 1/2°

™ CAY ARCHITECTURAL PRODUCTS

[sweer & OF

|D'A’GNO.

ALPOLIC and ALPOLICHT
COMPOSITE WALL PANEL SYSTEN

SCALE SHOWN|

S1ZE | CAGE CODE
B

DATE

i1z

9 'Mﬂ” MITSUBISHE CHEMICAL AMERICA, INC

APTROVALS

DRAAH

MS

ERGHEERING
PROJ MGMT

PRODUGTION

XX vt

KK £ 005

t 122

0 -‘:5:1 ¥ A
FRACTIONS ~ DECIMALS  ANGLLS

4MM & 6MM ALPOLIC
& 4MM ALPOLICHT

FINISH

DO NOT GCALE DRAWRO

AT

|||||||| Tr———— =TT T T T
P P
|| I 3
it I ﬂ
1 t1 o
A 52
........ 4 R — —
........ T e L
HES 8T
s | 5 I ZHO
7] 2 REEEE £
g |2 ! i CEZEIRE:
5 - = _ _ _ _ Fza< a
=} .um...tl S R | S —— +r————— I ————— == fr———————
m nﬂ... r%; lllllllll ——_—————— e e e e e w
3 x| 2 [ | Q
: |2 : i 2 <
& = || || 3 =
T S bl o L
- TTTCITIrCIIIIC ot | A & -
L
P :% 4 ) —e i m
] ] =
IIIIIIIII S S P P | EPUI VPR R A
R &
[ I o™
I 3
¥ X £ SONE
. uHHHH_«THHHT_HHHH roooooool 8 8% OIS
.l‘nw.r 1 11 m mm Im-mo“ ._q_w
i 1 2o 53es2 %
g AN
_ “\- ||||| th————— ] o = e = Sl e e fpr —— — —— = s U.W.mw g g | &
g | ! mw 82 ZErii o
D .o A
= . i ==z apauusqniue § B L& - R
S =Ea<s &2
z N~ N N
& Sg E N & Y &
: B3 = |l 2 |l
e 4 B 11 s t
o ANn m m 1 m i \..\
z 2% Hnuuuuutnnunnuuu_u_nuuuuHu I
= il ]
w..N 11 i1 l.\n_me
| SRS | S I T S— 22
=
. SoE
= N <2 £/ EES
2y [
= = NBM
- o2
4 T Y NOISNIIC S25
| &/ NOISNINQ 1INV g/ || v LZs
Led
¥ F-l mmm
NOISNINIA J0ISNI JHVA £gs
I/l : 2/ 68 L) mmm
NOISNIWIQ 3QISLN0 JWvyd o™
&<
I/ 85 =02

304" = 19"




#12 x 1 1/2" HWH WOOD SCREW
@16 0.C. TO MAIN STRUCTURE

ATTACH EACH STUD TO TRACK
W/ 12 x 1 1/2" HWH
TRAXX 3 BUILDEX SCREWS
™O (2) FA. SIDE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH .
(3) 5/16" DiA. LAG BOLTS
DOW CORNING %795 SILICONE

SEALANT & 3/4" DIA. OPEN CEL,
BACKER ROD (TYPICAL)

———

/—

1
9/18"

F10 % 17 HWH TEK SCREW/
16" 0.C. TYPICAL EACH PANEL

4MM OR GMM ALPOLIC—/
OR 4MM ALPOLIC/#r

2 1/4"

ALUMINUM COMPOQSITE
PANEL

CAY-1012
STIFFENER

ATTACH STIFFENER T0 PERMETER —— |

EXTRUSIONS ON EACH END WITH
#10 x 1" HWH TEK ScREW

DOW—CORNING #1109 —/

SIUCONE SEALANT

CAY—-1013 /

RETAINER

[/

MiN.

a

.

o2 1/4" MiN——]

12 x 1 1/2° HWH TEK SCREW
16" 0.C. (FASTEN TQ STUDS)

PLASTIC SHIM SPACE
{AS REQUIRED)

CAY—-1008 TEE
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

@ DETAIL
SCALE: 6" = 1"

#12 x 1 1/2" HWH TEK SPACE
16" Q.C. (FASTEN TC STUDS)

| ————PLASTIC SHIM SPACE
(AS REQUIRED)

6" X 16 GA

GALY. STEEL STUD
16" 0.C.

/ 27\ STIFFENER DETAIL

w SCALE: 6" = 1'

THE WOOD BUCK FRAME DETAILED IN THIS ORAWING
IS FOR TEST PURPOSES ONLY AND 1S NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2

1/4"

#10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

BACKER RCD
AND SEALANT ]

CAY-1010 FEMALE

1 1/16"

M. CAY-1011

ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

PRODUCT RENEWED
as complying with the Florida
Building Code

Acceptance No ]_ Z, o8
Expiratior Daie O

ZOIL

ard 10 zuéuct Coandyol

MALE

ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.}

\#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

[——rre—————" X 16 GA.
GALY. STEEL STUD

18" 0.C

/"3 JOINT DETAIL

\9/ SCALE: 6" =

1

/.

PRODUCT REVISED

as complying with the Flerida
Building Code

jCAY ARCHITECTURAL PRCDUCTS -

| ITSUBISHI CHEMICAL AMERICA, INC.

ALPOLIC and ALPOLIC/r

& ANMM ALPOLICH:. -
[/

M5

b
Q4
APPRVNS DATE
mm“mmm.ic B
| BRPRERFR)

11102

COMPOSITE WALL PANEL SYSTEMS

erm
DO-HOT BCALE CRAVWIHG T

R b

SCALE Brow] fser 9 OF 10




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING /

{3 FOR TEST PURPOSES ONLY AND iS NOT INTENDED

AS A RECOMMENDA

TION FOR ACTUAL CONSTRUCTION.

6" X 18 GA.
GALY. STEEL STUD
16" 0.C.

12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

g T

2 X10 WOOD BUCK FRAME
CONNECT ‘FRAME WITH

17

CAY— 1009 TEE
ALUM. EXTRUSION
SHOP ATTACHED
—[ TO ‘PANEL (TYB)

1

|
¥

2

<~
X

\4MM OR BMM ALPOLIC

QR 4MM ALPOLIC/fr
ALUMINUM COMPQSITE
PANEL

FRODUCT RENEWED

a8 complying with the Floride
Building Cade

Acceptance Noff~04. 2/. 0§

CENTERLINE OF —e~
METAL §TUD

[~ CENTERLINE OF

PANEL JOINT

8" x 16 GA.
GALY. STEEL STUD
168" 0.C.

#12 X 1 1/2" HWH TEK SCREW

| 16" 0.c. (FASTEN TO STUDS)

SHIM As
REQUIRED

CAY—1010 FEMALE
ALUM. EXTRUSION

2 /4 CAY=1011 MALE SHOP ATTACHED
Mg ALUM. EXTRUSION TO PANEL (TYR.)
SHOP ATTACHED
T0 PANEL (TYP.) 1 1{13"
v

#10 x §" HWH TEK SCREW
168" 0.C. TYPICAL EACH PANEL

DOW CORNING #7895 SILCONE
SEALANT & 3/4" DIA, GPEN CELL
BACKER ROD (TYPICAL)

(3) 5/16" DIA LAG BOLTS Expirgtion Dinte 28/ 0 ofl
: By U%M_L_Z\y
DOW CORNING *795 SILICONE #10 x 1" HWH TEK SCREW Y Jr
SEALANT & 3/4" DIA. OPEN CELL 16™ 0.C. TYPCAL EACH PANEL Misami Daggroduct Control
BACKER ROD (TYPICAL) PRODUCT REVISED
as complying with the Floridu
Building Code 0 S
A t N .
m DETAIL Expigation Dated il CAY ARCHITECTURAL PRODUCTS
|/
w SCALE: 6" = 1’ By MITSUBISHI CHEMICAL AMERICA, ING.
Miﬁ!n.i Da:
Dlyision o - ALPOLIC and ALPOLICAr
SMMAPOE (e COMPOSITE WALL PANEL SYSTEMS
T — S Ms 1wz .
. B 1 I 1
DYHOT SCALE DRAYNG SCHLE_SHow] [emr 10 OF 10




